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1. MATLABOI&t?

2. && &z

3. MATLABS| A&+
A2 - X233 — StudentMATLAB

4, K88 9480 228
EDU? cd [enter] % & Zd(ddEg]) &<l
EDU? cd .. [enter] % 739 ZH=E o|&

EDU? cd vtoolbox [enter] % 3l¢] ZH = o]%
EDU? dir(®2= 1s) [enter] % & ZTiW 9] file &<l

5. 40 HENQ} &
- WF ol WAaEAE T
- WF OlEe EAR AR, 2AY WE Tk
MATLABY] 1 WHEELS AgS 4+ gle
6. Plot

plotUt25 ¥, Al25 )

7. Scalar A4t
- SR wa Al o Ak A ALY 9 s
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- YAl T SR, W) FE, AeeE CE A
- HTE Y3k o "eEvtor ALl s
8. Matrix 14+
- matrix ¥4
& F+E& (ENTER) == ¢
o FES (SPACE) & ¢
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m-file2 A 33

o2 2ol HrFHo| ) ot ¢
- 3 o] 52 file olFF FAoF T
- A wipAsTE o8 ) A TR AS.

- function ZH4LYH = S (MHHHSEH)

m-file Window

function msum = ssuub_(x, y)

msum = X * Yy,

Save as — ssuuS_ .mOoE A%

Command Window
EDU? x = 4
EDU?y =5

EDU? ssuub_(x, y)

2. plot ¥4

- A" Hes ke agzEs ¥

- plot ( 7}25% WF, AEF ¥5)
Command Window

EDU? t=0:0.01: 10;

EDU? x = 1.5 * exp(=0.5 * t) .* sin(2 * t);
EDU? plot(t, x)

EDU? xlabel(‘t(s)’)

EDU? ylabel(‘x(m)")

EDU? title(‘response’)

plot(t, X, ‘r’) Ayr :by :ga
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HIZAHS =3I S

[2 14, 199221 wn =1rad/s2 v A9 =
714ke] x0 =0.01 m, vO =0.01 m/s ©]aL fO0 =0.1
N/kg, w = 2 rad/s ¢ %3} 7} o] 283 o,

80's Bore] SRE WATL

vtb2_1(m, k, x0, vO, w, FO, tf)
vtb2_1(wn, x0, vO, w, O, tf)

4, ZAHS = UP&'(Z):
[2.24 2]2.36] wn = 10 rad/s°]aL 74|H]~7} 0.
Q1 7] Al J—Eﬂrﬂ] o] #&a o, 7HIXFF

oct
o'

—

1 O

3h(w = 5, 8, 15, 20 rad/s)ell w2 A E)
EL3)S 18l E) (f0 = 10 N/kg, tf = 10 s)

il g

type vtbhZ2_2.m
vtb2_2(m, c, k, w, FO, tf)
vtb2_2(z, wn, w, {0, tf)

EDU? vth2_1(1, 0.01, 0.01, 2, 0.1, 80) [enter]
EDU? close [enter] % fig &S B+

type vtbZ2_l.m

2. M=0] A
[2.14 ™24 9344 2371 o, wel wno]
A ske] TASE WEo] dAS ),

(w=1rad/s & W wn=1.1rad/s B+ 1.2 rad/s,
fO = 0.1 N/kg, tf = 120 s)

EDU? vtb2_2(0.1, 10, 5, 10, 10) [enter]
EDU? hold on [enter]

EDU? vtb2_2(0.1, 10, 8, 10, 10) [enter]
EDU? vtb2_2(0.1, 10, 15, 10, 10) [enter]
EDU? vtb2_2(0.1, 10, 20, 10, 10) [enter]
EDU? close[enter]

EDU? vtb2_1(1.1, 0, 0, 1, 0.1, 120) [enter]
EDU? hold on [enter] % 1 ZE FHAF
EDU? vtb2_1(1.2, 0, 0, 1, 0.1, 120) [enter]
EDU? close [enter]

3. LA FEIIF(1) : IE, 2

224 92,8 2 2HA SHIA D%
g ARG -] ARE 7hau el
WEH0.07~0.5)0 we ek 7alul el 2%

Hl7h wgel whel AEl Swel AZa $l4bol

H3=71E B}

==

o1

type vtbZ2_3.m

vtb2_3(z, rmin, rmax)

AFE o neg IFE A
st o), AAAZF 20.5 kg, 74
kge] B8 Aol AT
0.15 m gom AglelA A& A5, A
| wheb %o wstel 91740 wskE 1y

type vtbZ2_5.m

vtb2_5(m, mO, e, z, rmin, rmax)

EDU? vtb2_5(20.5, 0.5, 0.15, 0.01, 0, 4) [enter]
EDU? [enter] %X %-Z51]

EDU? [enter] %%-
EDU? close[enter]

L.OTH]

EDU? vtb2_3(0.07, 0, 3) [enter]
EDU? vtb2_3(0.1, 0, 3) [enter]
EDU? vtb2_3(0.5, 0, 3) [enter]
EDU? close all[enter]

(AFEA 2.23 4D

m=1kg,z=0.1, wn=2rad/s, FO= 15N, w =
10 rad/s, 271279 x0=1m, vO=1m/s & u
2(2.27)¢] &= 122

vtb2_23(m, z, wn, w, FO, x0, v0, tf) & o] &




EDU? type vtb2_1.m

function VIB2_1(mkxOvOwdrFOL)  => Hizka] Zspke] -84
if nargin==6 => ¥ 67181 75

t=FO:f0=wdr; wdr=v0;vO=x0;xO=ksw=mk=w"2;m=1;FO=0;

end

=0.0005#Etf - => ARIES 094 t7F4] 00005+ IFA S = s
fO=FO/m;

w=sartk/m);  => IFEs ARt

x=vO/wsin(wt+ (xO—-f0/(w2-wdr™2))xcos(wth fO/(w"2-
wdr"2)xcos(wdr#t);

pottx) = xFt yH x% 1T =2

xlabel(Time)) =>xZ label A%

ylabel(Displacement) => yZr label A4

EDU? type vtb2_3.m

function VITB2_3(z;rmin,rmax)
r=rmin:(rmax-rmin)/1000:rmax;
AO=(1)./sqrt((1-1.2)."2+ (2xz+1).2);
phi=atan2(2*z#r,1-1r."2);

figure(1)

pott,AQ) => xF2r, y52 AQ = =4
xlabel(Frequency Ratio")

ylabel(Normalized Amplitude”)

title(Normalized Amplitude versus Frequency Ratio')
hold on

figure(2)

plotlrphl) => xF2 1, y&5-phi & 133 &2
xlabel(Frequency Ratio")

ylabel(Phase")

title(Phase versus Frequency Ratio")
hold on

EDU? type vtb2_2.m
function VITB2_2(m,c k,wdr,FOtf)

if nargin==5 => YEPAG7} 5721 79 wgke] 991 17
tF=FO;f0=wdr;wdr=k;w=c;z=m;

m=1;c=2+zxwk=w"2;FO=f0;
end
t=0:.0005+tf:tf; => ARIZES 00lA t714] 0.00054f JFAC % Lhs
fO=FO/m;

w=sart (k/m); =>33FE Akt
z=c/2/w; => 7] ARt
if 2>=1 => ARK R =24 75
disp ('This system is NOT underdamped, sorry!")

=>7daL mAA] Bpdell &3
end
AO=f0/sqrt((w™2-wdr™2)" 2+ (2xzewriewdr)2);
x=A0xcos(wdrst-atan2(2sz=w+wdr,w"2-wdr"2));
plot(tx)

%(2.36)

EDU? type vtb2_5.m
function VTB2_5(m,m0,e,zrmin,max)
r=rmin:(rmax-rmin)/1000:rmax;

=> & H1E rminoll rmax7i#] 1/1000F 02 Wi

Xn=sqrt(@ D) AA-1"2).2+ Cxz+0)2);  %(2.84)
X=Xn*mO+e/m; %(2.84)
phi=atan2(2#z+r,1-r."2); %(2.85)

aa=version;l=length(aa);
plot,Xn)
grid on

EDU? type vtb2_23.m

function vtb2_23(m,z,wn,w,F0,x0,v0,tf)
wd=wn*sqrt(1-z"2);

fO=F0/m;

t=0:0.0005=tf:tf;

A=sqrt((vO+ z+wn*x0)"2/wd"2+ x0"2);
AO=10/sqrt((wn"2-w"2)" 2+ (2#z+wn*w)"2);
phi=atan2(x0*wd,vO+ z+wn*x0);
phi2=atan2(2*z*wn*w,wn"2-w"2);
xh=A*exp(-z+*wn#*t).*sin(wd=*t+ phi);
xp=A0*cos(w*t-phi2);

x=xh+ xp;

subplot(3,1,1)

plot(t,xh)

title('Transient Response (Homogeneous Solution)")
xlabel('time, t")

ylabel('xh(t)")

......................... (o] st8 =)



